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+In May 1985, scientists fromthe British Antarctic Survey

shocked the world by announcing the discovery ofa huge holein
the ozone layer above the Antarctic.
»0Ozoneis a gas usually formed from oxygen thatis high in the earth’s
atmosphere.
s The ozone layer is essential to life  onour planet because it protects us
from harmful ultraviolet rays produced by the sun.
+Without the ozone layer, these rays would cause cancer and other
diseases in both human beings and animals.

Further Questions&A

5. 1) What did the British Antarctic Survey  discover ?

6.  British Antarctic Survey

7.

s.2) Why is the ozone layer essential to life?

0.

0. The world’s reaction to the scientists’ discovery was surprisingly quick.

1. Data showed that the ozone hole had been created by gases called
chlorofluorocarbons (CFCs), which were widely used in machines
such as air conditioners and refrigerators.

2. By 1988, 46 governments had signed the Montreal Protocol , a

treaty that banned the use of these gases.

1. Eventually, this treaty was signed by every member country of

the United Nations—the only treaty ever to be signed by so many

nations.
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1 It will be a long time before the ozone hole disappears completely, but it soon
stopped growing .
1. Persuading the international community to adopt the Montreal
Protocol was considered to be agreat achievement for the

environmental movement.

Further Questions&A

6. 3) What was the hole in the ozone layer caused by?

7. 4) What was so amazing about the Montreal Protocol?
18. Montreal Protocol

19.

2. According to scientists, there were two reasons why people responded so
quickly to the danger

21 The first was that it was easy to understand. If the hole  kept growing |,
it would threaten life everywhere.

» The second reasonwas that it was easy to  replace the CFCs with

*hydrochlorofluorocarbons (HCFCs), gases that do much less damage to the
ozone layer.

2. Unfortunately, though, HCFCs have their own problems. Not only do they
contribute to global warming , but they may alsobea  major factor

in the development of acid rain .
*HCFCs= hydrochlorofluorocarbons =

Further Questions&A

2. 5) What was one reason people responded so quickly to the danger?

25. 1
26.

27.

6. 6) What are problems with HCFCs? Hcrcs

29.

. Does this mean thatthe ban on CFCs was a bad idea? The ozone hole was
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a real danger and, without the ban , itwould have quickly grownto cover
the whole planet .

a1 Stoppingits growth wasa  major victory .

2 Nevertheless, the difficulties caused by HCFCs show how complicated
environmental problems can be.

. Above all, they demonstrate how important itis for us to find a way to

control the main cause ofglobal warming—the harmful gases that

we keep putting into the atmosphere.

Further Questions&A

. 7) What would have happened had the ban not happened?

35.

% 8) What did the HCFCs demonstrate? Hcrcs

37.

s (37) The ozone layer is important because it
» 1 helps preserve the oxygen necessary for life.
0. protects us from rays that can cause serious diseases.

2
n 3 allows us to calculate the amount of pollution in the air
4

2. stops the earth’s atmosphere from being damaged by the sun.

s (38) Why was the Montreal Protocol seenas a great success forthe
environmental movement?

44,

s 1 It forced governments to do more research onthe ozone layer.

s 2 It provided data showing that CFCs created the ozone hole.

3 It attracted attention tothe damage being done to nature.

s 4 It was agreed  to be more  countries than any other treaty.

». (39) What was one reason CFCs could be banned so quickly?

50.

s. 1 Scientists were becoming concerned about acid rain .
2. 2 People recognized that global warming wasa  real problem.
ss. 3 A gas that was not as harmful to the ozone layer was  available
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. 4 They were being produced in only a few places around the world.

ss. (40) The ban on CFCs was a good idea because
ss. 1 0t led to a reduction in global warming.
57. it saved the planet from a serious threat

2
ss. 3 It reduced the amountof HCFCs in the air.
4

50. it showed how complicated nature is.

Review Questions

o 1) What did the British Antarctic Survey  discover ?
s 1hey discovered a huge hole in the ozone layer.

2. 2) Why is the ozone layer essential to life?

e Because it protects us from harmful ultraviolet rays produced by the
sun.

s 3) What was the hole in the ozone layer caused by?
. It was created by gasses called CFCs.

s 4) What was so amazing about the Montreal Protocol?
e. It was signed by every member country of the United Nations.

. 5) What was one reason people responded so quickly to the danger?
69. If the hole kept growing it would threaten life everywhere.

70. Itwaseasyto replace  the CFCs with HCFCs which do much less
damage.

7. 6) What are problems with HCFCs?

». They contribute to global warming and they may be a mafor factor in the
development of acid rain.

72 7) What would have happened had the ban not happened?
u. 1t would have quickly grown to cover the whole planet

7 8) What did the HCFCs demonstrate?
. They demonstrated it is important for us to find a way to control harmful gases
we put into the atmosphere

1 (37) 2 (38) 4 (39) 3 (40) 2
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